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Fivst iteration :
i

Putting w=u Y=E
- q :O'q
T o
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§e ===
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Z = __‘22:—-— &-::Z
10
Second Mi?i“‘ 0, Hz__a_&jzwz.a in @),
’Puttll’)j =
© “O 12
x = _| [q.[_.;xa-a-a.&) = I
o a. 0%
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“Thivd iteration:
St

X =_1 (Q+c2,r§.04~3-09-) = [.0/
1o
=34 = 1124+ 30k) = —3 .008

3= =
io
Z = 1 (R +a&ax1-1a + 3 xQ.09) = 3.-04%
1o
fourth iteration :

x = ! (9+?2x3.008—3-045) = 0.99%
o

e
i CQQ_.;.&L)(I-OI—!—B’X&'OOS): S-o00py

< = 15

Fifth ii_jej@l $ |

x = 1 (9 +ax1-9965-3.0044) _- 0.9989
io

y=_t_ (—2a —0-99%1 + 3.004¢) = —1.9993
10

| (aa+ax0:9971 +3x1:9965) = 2. 9984

lo

£ =

Sixth ikevation :
e T ————

a0 € PepEW 1.9993 — &-998L) = )

L
10 9
y = - (—aa _0.9987+ 2-998¢) = #GTIST
= Tl
7 - I (&a+ax0.9989 +3x 1-9993) = 2-9976
10

Seventh iteration:

Tlo

T (-da =149 =—

lo
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Z=_1 (aa+a+b6)=3
1D

. TThe Yeoyuived ~Selution ic

S - - ‘]
[’X=V'Jy:—d&JZ=‘3'f

i i

Solve the %cflowiﬂg <Syste

3 decimal places , using Grauss

m Dg eovuations , Covrect to

_Jacepi method.

_'x—i—y—leZ:JEabl
x+ oY + < = &0.08
lox +Yy —x = 1.19

ic not diagonaﬂ‘g

Solution : |
Since -the given <ystem of exvuations

we Yewrite -the eqyuations Qs

loxX +y—2 = n-19 — ©

®x 410y +2Z = 20.08 — (&

— %+ Yy+10Z = 3561 = (3)

dominant ,

Hence e have,
(n.19—-9+z2 — @

)

"x_‘:
10
— (5
y = | (&0-08*1"2) O
1o o
o = . [(&5bi+R=l) =2
“io
Fivst itevation :
B putting x=0, Y=o, Z=0 in @, O £ O,
x = -2 = 1-119
o

3 = ao.og =&-008

[0
Z = 35-6' ¢3-5$f

I e s
lo
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Second itevation:

P

W = I (ll-l9~t>2~.008-}-3~5{3i) = |-&:}+
-»m
t | ('&0-08——1.11‘).-3.551) = 154
‘J o
- Z4t
z = 1 (35.61 + 1. 1§ — Q-008) = F 47
1o
“Thnd itevation - .
o B o 1 [if= 1- 5 4 —!—J.q.‘f.,?) = 13
o
= T:543
Yy = I (20.08 — 1-27¢ — 3.472)
lo ) 5
| (35-bl 4+ 1-AFFT l.54) = 3-53%
~ 7o
Fouath itervation: '
e f = {4 /
g o L, (N1 533 +3.534) 319
" "o
— 5 3
y | (20.08 — 1-31< +_ 3.534) = 1:5d
lo ) . .
| (35.61 + 1-312 — .533) = F-557
T
i Jeamees 539) = 1.3l
T Wox — | (]I. 19 — 1-5&5 —+ 3.
S 539) = .54
Y = _L_,(&o.oe-al-alfi—z- =
J 10

7z = 1 (35-61 + 1319~ 1.595 ) = 3537
1o

Hence

Zoe Fd&53
w" e F2 . Y F 22, |
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